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LABJNDu? triangle lightnesst*

t* Yoc=Yw - nc=100,

L AgaNDU7=IN(A 17 +AZY)(A2rAon)  (Yad100<Y<=Y,o)
L ABaNDU7=IN(A 1+ A2X)(AgAon)  (X=YTY)
1 (3,6)=146 1 ,(18)=332,*y (90)=517

log[t*/t* ,]=0, m,=0,33 L1
-
L* =49, t* =332 'y
. ]
t*90=517,21, =1~ #,=0,1044, ¢=0,84
=3:2,22, A=0 W4, A, =0,0058

«
t*w—_ Wl al 1 application
t*36°146,11 ;=37 22 =18 ' e

LABJINDu?7
tristimulus value difference
Yoe=Yw - nc=100,

t*LaBINDU7=IN(A 10 A2 Y)/(ArAon)  (Ynd/100<Y<=Y, ()
tLaBaNDu7=IN(A 10t A2 )/ (A2Aon)  (X=YTYY)
dy:AOn(A1n+A2nY)=A0n(A1n+A2uX) ><:)YIYLI
Aon 06515, A A=1.0, see CIE 230:2019. |
‘V
1",=332. dY,=0.17, dY,/,=0 1098 #
log(dY)=0,17, m,=",87 “‘.
dYog=0,80, =3, A 59,1044} G=0,8 %= m mm
d¥y5-G,17, /3=, 8 f,=0,0058  application
dY36=0,05 Y,=18, dY=0,17 9

0,
8
1
sl
xN=0,2 Xw=5

log AY/Y) LABJINDuU?
_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100

L AgINDU7=IN(A 17+ ALY (A2rAon) - (Yad/100<Y<=Y,o)
L AgaNDu7=IN(A 10t A2X)(A2iAon) - (X=YTY)
AYIY=Aon(A 1+ AIY=Ag (A1t A X) Y
(AY/Y}g=0,0229, A=1,5, Ay =0,1044, ¢=0,84
(dY/Y)g=0.0098, 1.~ 014 A, =0,0058
(dY/Y},6=0,0146" 18, dY=017
',
log(dY/Y)--2,00 m,=-0, ML ¥ . i\;ﬂ?licaﬁon
/Y,=0,00081 ge
1
1
%=1
xN=0,2 Xw=5

LABJINDu7
tristimulus value contrast
Yoc=Yw nc=100
L AgINDU7=IN(A 17+ ALY (A2rAon) - (Yad/100<Y<=Y,o)
tLaBINDU7=IN(A 10t A2 )/ (AoAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(YIdY)o=111,88, Ay=1,5, Ay =0,1044, ¢=0,84
(Y/dY)g=101.11, A=0,014, A4,~0,0058
(Y/dY}, 68,25 ¥,=18, dY=0,17

t,=332 dY,=0,17, Y,/dY,=101
, B

log (Y/AY)
C,=(Y/AY)

application
range

I =1
w=5

t/tx LABJNDu? relative triangle lightnesst*/t*
u gle lig u

e, Yoc=Yw - nc=100,

tLagaNDu7=IN(A 1+ ALY (A2rAgn) - (Yad100<Y<=Y,o)
t*LagaNDu7=IN(A 1n+A2X)(AzA0n) - (X=Y1Y)
t(3,6)=146 *,(18)=332,*(90)=517

thggf/t*=1,55, Ay=1,5, Ay, =0,1044, ¢=0,84

t*1g/t* =100, A,,=0,014, /5,=0,0058

%3 /t*,=0,43,1%,=332,22 Y=18

log[t*/t* J=0, m,;=0,33
1 application
f range
%=1

log(AY/AY,) LABJINDuU7 relative
AYIAY tristimulus value difference
u Yoe=Yw -~ nc=100,
tLagaNDu7=IN(A 1+ AY)(A2rA0n)  (Yad 100<Y<=Y,o)
tLaganDu7=IN(A 1t A2X) (A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYeo/dY,=4,51, Ay=1,5, Ay=0,1044, ¢=0,84
dY;g/dY,=1,00, A1=0,014, A.=0,0058
dYz ¢/dY,=0,29 Y,=18, d\=7,17 o
>
t*,=332 d 1 ",=0 ;:098’0

application
range

=1
Xw=5

CEG70-4A
log [(AY/Y) | (AYIY),] LABJINDuU? relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc

tLagaNDu7=IN(A 1A Y (A2rAcn)  (Yad100<Y<=Yyo)
t*Laganpu7=IN(A 1t A2 ) (A2iAon) - (X=Y7Yy)
AYYYAYIY), =LA 10+ A2X) Xl (A 10+ A2y)
(@Y/Y)o(@Y/Y ;0.90, Ay=1,5, Ay =0,1044, ¢=0,84
(dY/Y)g/(dY/Y)=100, A =0 014, £4,=0,0058
(@Y/Yh g(AYIY)=1,5 ;18 00,17
&

10g[(dY/YY(dY/Y),]=0, mu:—O,ll. H
t*,=332 dY,=0,17, d¥,/Y,=0,0098
Ix,=1
Xn=0,2 Xw=5

application
range

CEG70-6A
log [(Y/AY) I (YIAY),] LABJINDuU? relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

nc

tLagaNDu7=IN(A 1A Y (A2rAgn)  (Yad/100<Y<=Yyo)

tLagaNDu7=IN(A 1t AX) (A2iAon) - (X=YTYy)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIdY Yo/ (Y/dY)=1,10, Ay=1,5, Ap=0,1044, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A=0,014, /5,=0,0058
(YIdYy g (Y/AY)=0,67, Y,=18, d=0.17

log[(Y/dY)(Y/dY),]=0, m,=0,11
| |

application
range

LABJNDu? triangle lightness T*

YoceL*w - ne=100,

T*LABINDU7=IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LaganDu7=IN(A 10 A2 X)/ (A2iAon) - (X=Y1Yy)
T+ (3,6)=146,T* ,(18)=332,T* ,(90)=517

log[T*/T* ,]=0, m,=0,33
L* =49, T* =332
1
*90=517,21, Ama,wﬁg.,:o,lou, ¢=0,84
T*16=332,22, /7 0. %14, A,=0,0058
T*3,=146,11,T%; 3 2,22 \(les:
L ] =1
=02 Txy=5

application
range

CEG71-1A
log(AY) LABJINDU?
AY tristimulus value difference
YomL*yy - =100,
T*LABINDu7=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T aganpu7=IN(A 10+ A2X)(AAon) - (X=YT7Y,)
dy:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aon06=1,5, Aon a=1,0, see CIE 230:2019
0"
T*,=332,0Y,=0.17 dY/Y,=0,0%05
log(dY)=0,17, m,=0,87
el
dYog=0,80, Ay =L E. 70 50,1044" ¢=0,8% = m ==
dY;g=0,17, A, “<.-it, A, =0,0058 Eppicaey
dY3 ¢=0,05 Y,=18 dY;=0,17 g

XN=0,2
CEG71-3A

LABJINDu7

log AY/Y)
_ tristimulus value sensitivity
SEERY) Yocml*w © nc=l

T*LaBINDu7=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBaNDu7=IN(A 1+ A2 (A2 Aon) - (X=YTYY)
AYIY=Por(A it AgnY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0089, A=1,5, Ay =0,1044, ¢=0,84
(dY/Y)g=0.00C3. Ay=0,014, A4,=0,0058
(@Y/Y} =0,0146+, =13, 2Y-017

application
Fange

1

1

%=1
XN=0,2 Xw=5

CEG71-5A
log (Y/AY)
C,=(Y/AY)

LABJINDu7
tristimulus value contrast
Y=Ll w nc=100
T*LABINDu7=IN(A 17+ A2Y)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBaNDu7=IN(A 1+ A2 (A2 Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(YIdY)o=111,88, Ay=1,5, Ay =0,1044, ¢=0,84
(Y/dY)g=101.11, A=0,014, A4,~0,0058
(Y/dY}, 68,25 ¥,=18, dY=0,17
T*,=332, dY,=0,17, Y,/dY,=101

=

log(Y/dY)=2,00 m,=0,11 = * 1

> 1 application
1 range
|>“:1

XN=0,2  Xw=5

CEG71-7A
CEG71-7N

THT* LABJNDuU? relative triangle lightness T*/T*

. YL =100,
THT*, nc w nc
T*LABINDU7=IN(A 10+ A2RY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*Laganpu7=IN(A15tA )/ (A2iAon) - (X=Y1Yy)

TN (3:6)=146,T* ,(18)=332,T*,(90)=517
Ty T*,=L,55, Ay=1,5, Ay, =0,1044, ¢=0,84
T#,g/T*,=1,00, A =0,014, £,~0,0058
T3, T#,=0,43,T4=332,22 (=18

log[T*/T* ]=0, m=0,33

application
range

=1

CEG71-2A

log(AY/AY,) LABJINDuU7 relative
tristimulus value difference

INUNS VLS VAl 5o
T*LABINDU7=IN(A 10+ARY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LABINDu7=IN(A 10t A2) (A2 Aon)  (X=YTYY)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,51, Ay=1,5, Ay=0,1044, ¢=0,84
dY,g/dY,=1,00, A=0,014, £,~0,0058
dYs,gdY,=0,29 Y, =18, dY=0,17 .

XNn=0,2 Xw=5
CEG71-4A
log [(AY/Y) | (AYIY),] LABJINDU? relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc

T*LABINDU7=IN(A 10+ARY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDu7=IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y}o/(dY/Y)=0,90, Ay=1,5, Ay, =0,1044, ¢=0,84
(dY/Y)g/(dY/Y)=: 20, A=0.014, /5,~0,0058
@YY gAY=L ] vmi® AY=n 17

10g[(dY/YY(dY/Y),]=0, m:-o,ll' i
T+,=332 dY,=0,17, dY,/Y,=0,009¢}
Ix,=1
Xn=0,2 Xw=5

application
range

CEG71-6A
log [(Y/AY) / (YIAY),]
Co/Cry=(YIA)(YIDY),

LABJNDuU? relative
tistimulus value contrast
Ync=L* w nc=100.,
T*LABINDU7=IN(A 10+ARY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LABINDU7=IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(YIYY(YIY) =X (A+A X)) (A 15+A2y)
(Y/dY}o/(Y/dY)=1,10, Ay=1,5, Ap,=0,1044, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A =0,014, A,=0,0058
(Y/dY} ¢(Y/dY)=0,67, Y,=18 dY=0,17
log[(Y/dYY(Y/dY),]=0, m,=0,11
-

T*,=332 dY,=0,17, Y /d¥Ye-ZuL o
> application
range

%=1
XNn=0,2 Xw=5

CEG71-8A

TUB-test chart CEG7; LABINDY*(Y) & T*(Y), Yn&=(Y&L*) wrcBne x=0,86, with more data
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,014, A,=0,0058, A,=0,10
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